C:# Dividing Whole Numbers

Name:
Solve each problem. Answers
1) 92+:2= 2) 968+9=
- 1
2.
3.
3 139+3= 4 5O:2= 4
5.
6.
7.
5 849+2 = 6) 224-8 =
8.
9.
10.
7 70:2= 8) 34+4 =
- 11.
12.
9 861+7 = 10) 39:5=
11) 589+9 = 12) 721+7 =
1-10 | 9283 75|67 [58[50] 4233|2517 |
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Dividing Whole Numbers Name: Answer Key
Solve each problem. Answers
1) 92+2= 46 2) 968+9= 10715 46
- 1.
2 107 r5
3. 46r1l
3 139+3= 4611 4 50+2=_ 25 4 25
5. 4241
6 28
7 35
5 849+2= 424r1 6) 224+8= 28
8. 8r2
0. 123
10. 7r4
) 70:2= 35 8 34+4= 8r2 65 r4
11.
12 103
9 861+7= 123 10) 39-5= 7r4
11) 589:9= 6514 12) 721+7=_ 103
1-10 [ 9283|7567 |58]|50] 42]33]25] 17|
[ Math ] www.CommonCoreSheets.com 6 111121 8] 0




